MARKING SCHEME
CLASS — XII (2023-24)

@) IFFUT (A) & F& & AfheT HROT (R) T 2

ACCOUNTANCY (903)
Q Questions Mark
No. S
(c)Reconstitution of Partnership (&) @TsierT &1 getdios 1
2. | (a) Credited to all Partner’s capital Account in Old ratio 1
(37) Tl THERY & Toll W H WA ITaTd & shise fohar |
3. (c) Capital to be called up only on liquidation of company 1
() YA & FAYT 9T AN ST arell Yol M 7T
4. | Agent. Tsie
5. | (a) Bank A/c Dr.
To Loan To Partner A/c
6. | At the time of change in the profit-sharing ratio of existing partners. 1
faeTee APERT & ATH-[THIST 3ad 7 IRads & o |
7. | (b)Both Reason (R ) and Assertion (A ) are correct and Reason (R ) is the correct 1
explanation of Assertion (A)
(§) FROT (R) 3R AF6YT (31) el TE & 3R HROT (R) 3THDUA (A) T FEr
SqTEAT ¢ |
8. | (d) Assertion (A ) is not correct but the Reason (R ) is correct 1

Reserve Capital 3Rfatd Jsft

10.

Personal account safaaetd @ran

11.

1. Shareholders are owner of company while debenture holders are lenders of
company. RRYRY HTell & TATAT gld g Sfefh RKOTIIURT FHUa o FUGIT aid
¢

2. Shareholders receive dividend from the company while debenture holder
receive interest from company. YR & HAT F erarer Ferdr g, safh

ROTITURY & HUA 1T Relar &

12.

Interest on capital @ 10%
W = 40,000%10/100 = Rs 4,000
S = 80,000%10/100 = Rs 8,000

1
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Total Interest on Capital = 12,000
Profit wrongly distributed equal to amount of interest.

Particulars W S
Interest on capital Cr. | 4,000 80,000 1
Distribution of losses in 1:1 Dr. | 6,000 6, 00
Net Effect 2,000 (Dr) 2,000 (Cr.)
Date Particulars Debit | Credit
(Rs) [(Rs)
W’s Capital A/c Dr. | 2,000
To S’s Capital A/c 2,000 1
OR
Features of partnership (any two) 1+1
1. Two or more persons ar T ar & ¥ afFd
2. Agreement between partners ASIGRT & ST 3gld
3. Sharing of profit amsit & FecarT
4. Existence of business and profit motive caaarg &r 3ufTdY TT TH HAT
T 3Gy
5. Relationship of principal and agent Tam#r 3R Teic &1 F&y
13.| (i)Calculation of Actual Average Profit: Ya
Average Profit 70,000
Less: Abnormal Profit 5,000
Actual Average Profit: 65,000
(i1) Normal Profits=Capital Invested xNormal Rate of Return/100 Yo
=5,50,000%10/100= Rs55,000
(iit)Super Profit = Actual Average Profit -Normal Profit Yo
=65,000 -55,000 =Rs10,000
(iv) Goodwill = Super Profit x Number of years purchased Ya
=Rs10,000x4 = Rs40,000.
OR
Factors affecting value of Goodwill (any 4 with explanation)
1. Nature of Business Any
2. Location two
3. Efficiency of Management
4. Market Situation 1+1
5

. Special advantage

2

Downloaded from cclchapter.com




T & Hed & JHIEd 1 aia SR (FUTT Gigd HIS 4)

1. ST AT Fpid

2. Tle]

3. YaeeT T ceTdar

4. sTaR aRfeufaar
5. faQI omer
14, JOURNAL
Date Particulars L.F | Debit (Rs.) Credit
(Rs))
1. Bank Alc Dr. 1,00,000
To Premium for goodwill A/c 1,00,000 1
(For brining goodwill in cash )
2. Premium for goodwill A/c Dr. 1,00,000
To A’s Capital Alc 40,000 1
To B’s Capital A/c 60,000
( Transfer of premium for goodwill
to sacrificing partner’s in
sacrificing ratio)
15.| (Any Two) 1+1
BASIS OF
DIEFERENCE SACRIFICING RATIO GAINING RATIO
It is the ratio in which the
It is the ratio in which old | "émaining partners acquire
partner surrender a part of the outgoing partner’s share.
their share in the favour of
MEANING #¥ | new partner. Ig 98 JHqud & foEH 9w
ATSHGRT GIRT 3{dehTel FgoT
I al 36Ul & O 8d Wl | et arer & Hch R &
HSIER SaRT AU HSER & | Reqy & wreg far srar &

3
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el H 39 R8T &1 mer
ERIRCIGIRS

WHEN
CALCULATED

IUTeAT T HAT

Sacrificing ratio is calculated
at the time of the admission
of the partner.

T 39T AT AR &
®H H 99 & AT Heprem
ST gl

Gaining ratio is calculated at
the time of death or
retirement of the partner.

ST TS 3eTurel fohad
AR & ®H T 37dh1eT
TEUT YAl g & AT
fAeprelr STaT B

PURPOSE OF
CALCULATIO
N

A0TAT T 36627

It is calculated to determine
the amount of compensation
to be paid by the incoming
partner to the sacrificing
partner as premium for
goodwill or goodwill.

AT IR & ffed fr =afa
T Y I AWET 3T A
el WHERT # &fer S g

It is calculated to determine
the amount of compensation
to be paid by each of the
gaining partner to the
outgoing partner as premium
for goodwill or goodwill.

37THIA T Fel dlel TTSHER
a1 & I T AR AW
TISIEGRT gaR ey Srfed
AT H & S &

CALCULATIO
N

ITAT T HA

Old Ratio- New Ratio

‘:I){IO'II 3101‘4|d- ol 3101‘-II('|

New Ratio- Old ratio

ol ] 3'|°:|_)‘-II<‘|- l:iD*{Io'iI 3'101‘“(1

4
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16.

Date Particulars Debit Credit
(Rs.) (Rs.)
Share Capital A/c Dr. 4,000 1
Securities Premium Reserve A/c Dr. 1,000 mark
To share forfeiture A/c 1,500
To Calls in Arrears Alc 3,500
(Being 500 shares forfeited for non-payment of
Rs.7 including premium ‘2per share )
Bank A/c Dr. 2,700
Share Forfeiture A/c Dr. 300 1.5
To Share Capital A/c 3,000 mark
(Being 300 shares reissued at ‘9 per share as fully
paid)
Share Forfeiture A/c Dr. 600
To Capital Reserve Alc 600
(Being forfeiture money transferred money
transferred to capital reserve)
Dr. Share forfeiture A/c Cr
Date | Particulars Amount | Date | Particulars Amount
To share Capital 300 By Share Capital | 1500 &
Alc Alc mark
To capital reserve | 600
Alc
To balance c/d 600
1,500 1,500
17. JOURNAL
Date Particulars L.F | Debit (Rs.) Credit (Rs.)
1. X’s Capital A/c Dr. 5,000 1
To Y’s Capital A/c 5,000 mark
(Being realization expenses to
be borne by X, paid by Y)
2. Y’s Loan A/c Dr. 50,000 1
To Bank Alc 48,000 mark
To Realisation A/c 2,000
(Y’s Loan of Rs.50,000 settled
at Rs.48,000.)
3. |NOENTRY
(When creditors take over the 1
mark

assets no entry is to be passed).

5
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TOTAL

55,000

55,000

18.

JOURNAL

Date

Particulars

L.F

Debit (Rs.)

Credit (Rs.)

Bank A/c Dr.
To 12% debentures
application and allotment A/c
(Application money received)

12% debentures application and
allotment A/c Dr.
To 12% debentures A/c
(Transfer of application money

to debentures A/c)

Bank A/c Dr.
To 12% debentures
application and allotment A/c
(Application money received )

12% debentures application and
allotment A/c Dr.
Discount on issue of debentures
Alc Dr.
To 12% debentures A/c

(Transfer of application money
to debentures A/c issued at 2%
discount)

2,00,000

2,00,000

1,96,000

1,96,000

4,000

2,00,000

2,00,000

1,96,000

2,00,000

Bank A/c Dr.

To 12% debentures
application and allotment A/c
(Application money received )

12% debentures application and
allotment A/c Dr.
To 12% debentures A/c
To securities premium
Resereve A/c
(Transfer of application money
to debentures A/c issued at 5%
premium)

2,10,000

2,10,000

2,10,000

2,00,000
10,000

1/2

1/2

Yo

Yo

Yo

Yo

19.

X’s Investment:-

Date

Amount

Months

Product

1.01.2002
1.07.2002

5,000
5,000

12
06

5,000 x 12 = 60,000
5,000 x 6 = 30,000

Total

90,000

Yo

6
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Y’s Investment:-

Date Amount Months Product Y2
1.05.2002 10,000 08 10,000 x 08 = 80,000
1.07.2002 10,000 06 10,000 x 6 = 60,000
Total 1,40,000
Z’s Investment:-
Date Amount Months Product
1.05.2002 15,000 06 15,000 x 06= 90,000 Y2
Total 90,000
The ratio of X’s, Y’s and Z’s Investment for one month
= 90,000 : 1,40,000 : 90,000
=9:14:9
Xs share of profit = 16,000 x 9/32 = 4,500 (Vor1
Y’s share of profit = 16,000 x 14/32 = 7,000 [2+1]
Z’s share of profit = 16,000 x 9/32 = 4,500 2)
OR
1. Debit of Current Alc.
2. Credit of Current A/c. (1/2
3. Credit of Current A/c. mark
4. Credit of Current A/c. each)
5. Debit of Current A/c.
6. Credit of Current A/c.
20. JOURNAL
Date Particulars L.F | Debit (Rs.) Credit (Rs.)
1. A’s Capital A/c Dr. 24,000 1
B’s Capital A/c Dr. 24,000 mark
To D’s Capital A/c 48,000
(Treatment of goodwill on the
retirement of D)
2. General Reserve Alc Dr. 1,30,000 Y
To A’s Capital A/c 13,000 mark
To B’s Capital A/c 26,000
To C’s Capital A/c 39,000
To D’s Capital A/c 52,000
(General reserve distributed)
D’s Capital A/c Dr. 4,00,000 72
3. To D’s Loan A/c 4,00,000 mark

Working Note:-

7
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Value of goodwill = Rs.40,000 x 3 = Rs.1,20,000

D’s share of goodwill = Rs.1,20,000 x 4/10= Rs.48,000 1
Which is contributed by A and B in their gaining ratio i.e 1:1. mark
Revaluation Account
Dr. Cr.
Amount Amount 1
Particulars ) Particulars i K
To Plant & machinery Alc 20,000 By land & building A/c 40,000 mar
To Profit transferred to :-
Sunaina’s Capital 36,000 By Provision for doubtful
Tamanna’s Capital 24,000 60,000 debts 40,000
30,000 30,000

Note:- Partner’s Capital and Current A/c is on next page.

8
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Partner’s Capital A/c

Particulars Sunaina | Tamanna | Pranav Particulars Sunaina | Tamanna | Pranav
To Balance 60,000 80,000 1,00,000 | To Balance b/d 60,000 80,000
c/d To Bank Alc 1,00,000
1,42,000 | 1,18,000 1,42,000 | 1,18,000
Partner’s Current A/c
Particulars Sunaina | Tamanna | Pranav | Particulars Sunaina | Tamanna | Pranav
To goodwill A/c | 12,000 8,000 To Balance b/d 10,000 30,000
To Balance ¢/d | 1,30,000 | 1,10,000 To Premium for
goodwill A/c 6,000 4,000
To General
Reserve A/c 72,000 48,000
To Workmen
Compensation 18,000 12,000
Reserve A/c
To Revaluation 36,000 24,000
Alc
1,42,000 |1,18,000 1,42,000 | 1,18,000

Yo
mark

15
marks




Balance Sheet
as at 1%t April 2020

Liabilities Amount Assets Amount
Capital A/c Plant & Machinery 1,00,000
Sunaina 60,000 Land & Building 1,80,000
Tamanna 80,000 Debtors 1,90,000
Pranav 1,00,000 |2,40,000 Stock 40,000
Current Alc Cash 1,40,000
Sunaina  1,30,000
Tamanna 1,10,000 |2,40,000
Creditors 1,50,000
Claim for workmen
compensation 20,000
6,50,000 6,50,000
OR

As per the Partnership Act, 1932, a new partner can be admitted into the firm
with the consent of all the existing partners, unless otherwise agreed upon. The
following conditions led to the addition of a new partner:
1. When the firm is in an expansion mode and requires fresh capital.
2. When the new partners possesses expertise which can be beneficial for
the business expansion of the firm.
3. When the partner in question is a person of reputation and adds goodwill
to the firm.

qrsielT 3ifAfagsd, 1932 & 38R, Ush #U APER HI Fef Hlser drgiery H
Al ¥ BF H Yo f&ar o Thar g, 519 d& 6 32T dgAfa o gl
eafaf@d adt & FRUT T v @y i Sisr a4

1. 99 & & fFar & fav 31fes g6l H 3maeasdr B

2. 9 AT AEERT & 9F [AAYACT & S B & ¥ady [AEaR & fav
HIIGHS &l
3. J9 IR Irsiler gyaraemel g [Jearg «afed & 3R w3 & 358 var ¥

B #T TAfd AR gidser A gefe g

When the new partner brings his/her share of goodwill in cash and the
goodwill is retained in the business.

Accounting Entries:-

For premium or goodwill brought in cash by the new partner:

JOURNAL

marks

marks

1.5
marks

1.5
marks

10
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Date Particulars L.F | Debit (Rs.) Credit
(Rs.)
1. Bank A/c Dr.
To Premium for goodwill A/c
(For brining goodwill in cash )
2. Premium for goodwill A/c Dr.
To Sacrificing Partner’s
Capital Alc
( Transfer of premium for goodwill
to sacrificing partner’s in
sacrificing ratio)
22. JOURNAL
Sr. Particulars L | Debit Credit
No. .
F
Bank A/c Dr. 19,80,000
To Equity Share Capital A/c 19,80,000 ||1/2
(Being application money received)
Equity share Application A/c Dr. 19,80,000
To Equity share capital A/c 15,00,000 || 1.5
To Equity share allotment A/c 3,00,000
To Bank A/c 1,80,000
(Being shares allotted and balance
refunded)
Equity share allotment A/c Dr. 25,00,000
To Equity share capital A/c 20,00,000 || 1/2
To securities premium reserve A/c 5,00,000
(being share allotment money including
premium due)
Bank A/c Dr. 21,99,500
Calls in arrears Alc Dr. 2,000 1/2
To Equity share allotment A/c 22,00,000
To calls in advance Alc 1,500
(being allotment money received)
Equity share capital A/c Dr. 7,000
Securities premium reserve A/c  Dr. 1,000
To share forfeited A/c 6,000 1
To calls in arrears A/c 2,000

(Being 1000 share forfeited for non
payment of allotment including
premium)

11
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Bank A/c Dr. 14,000

To share capital Alc 7,000

To Securities Premium Reserve A/c 7,000
(Being forfeited share reissued at Rs.14
per share)
Share forfeited A/c Dr. 6,000

To Capital Reserve A/c 6,000

(being share forfeited money transferred
to capital reserve A/c)

OR
Calls in arrears:- Calls in arrears are the amount that is called with
respect to share and if not paid before the due date. The call money can
also be called allotment money, and the company can call it. If any
failure or default arises to send the call money, it may be known as the
calls in arrears. For the calls in arrears, a separate account should be
opened and maintained.
The account applied in the call of arrears can be reflected in the share
capital of the balance sheet. It used to be shown as the deducted amount
of subscribed but not fully paid under-subscribed capital.
The amount is known as paid-up capital, and the charge of interest at
10% p.a is chargeable in the call of arrears. Though, it depends on the
provision of the articles of the company itself. The company directors
have the right to cut off or wave off the interest rate on arrears calls.
Calls in advance:- Calls in advance are the excessive amount received
by any company in advance upon which has been called up. If a company
is allowed and authorised by its articles, it may accept the amount from
the shareholders. The advance amount can be transferred to the account
specially opened for the call in advance, known as call in the advance
account.
The amount that the company does not call should not be credited to the
capital account. It appears separately on the company’s balance sheet as
its liabilities. To make the shares fully paid, companies may use such
amounts. Once the amount gets transferred to the account, it can be
known as the call in advance is closed. It comes under the name of
current liabilities till the calls are made, and the amount becomes payable
by the shareholders.

37T IATAT:- 3 AT ag AT & FH X & & & AR JAMar ¢ 3R
SR AT &F ATy & ugel wET Toham SIm §1 Irera Yoit &1 31eesT
Uoll 8 &gl ST Hehdl & 3R Ul ST AT T Fehell &1 Ife AT TRA
AT H IS fAPerdr A1 T 3ot Bl §, o U 3G ATl Fgl o

1/2

Yo

2.5
marks

2.5
marks
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ThdT g1 3ed Irad & T Ueh 37eeT @rar @l Ser arfge 3R 33T
IEEE Thar ST arfgu|

37T el & fAT @lel a7 @ &l Jolel 99 & A Yolt & gReferd

fram ST @onar g1 39 TR o Bafy R{aver & gaar va affcg ger &

Hea IIfdd we] qUTA: Fohll Yol 8T A ¥ e fewrs Sl 2

$H TR & Y&d ol & §9 H ST ST g, 3K 10% gfda§ & fae &
SATST T IHR 3T ATl H AT 8T g1 glelilch, Ig HIeAl o i@l o
graeeT W gl IR ar &1 9e & AR HI FhR—IT Hidl G Tl &I
A Fldr a1 g & F AR @A &l

qded el qded Irelr fahdll off shuslt gary 31fd & ureq §r ag
cgfee O 8, o W AT i 75 71 Ife R Sl @ 38k
Fedie Al G@RT A R ftipa e Srar 8, O 95 RRuRe & Ry
TNFR HT Gl gl A T &1 30F Frgar & v Gy & & @
T GId H TUART T ST TohaT &, 0 3EF I/9ar G@id & & &
ST ST §

YAl GART SloT s8] T Sflel ATell ATA &I Yoll WA H STAT 781 Fhar
AT AIfRUl Tg FUT & Ay Faror 7 s@dr SAaIRat & & 7 3ref9T
O e gar g1 AW A qU TRe & Tl el & ToIU, Huferar i
TRIGT T AT &Y Fehell &1 Teh SR Sfd TR T H FAAARS g1 STl
g, 38 A qdad Il 98 g F &I A AW ST bl &1 Ig Il
frU S G TdAT SAGIRAT & ATH & 1T 8, 3R U AIURHT garT

oI B S gl
Items disclosed under ‘Short term provision’ (any two) Yo+
3TcYehlfoleh JTaET (PIS al) mark

1. Provision for doubtful debts. @feeatr %ol & T 3G

2. Provision for employees benefits. FIART &edToT TSI
3. Provision for taxation. &4l & faw 3T

(a) Bank Charges (3 2[ceh)

Short term. 3fe9shrel

(@)

LN

(b)Inventory turnover ratio

13
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28.

(1) Balance with Banks — Current assets

(2) Investment In debentures — Current liabilities
(3) Outstanding salary — Noncurrent liabilities
(4)Authorised Capital — shareholder’s funds

Yo
mark
each

29.

Proprietary Ratio = Proprietor’s funds/ Total assets
Total Assets = Debts x 2
= Rs.5,00,000 x 2 = Rs.10,00,000

Proprietor’s Funds = (Equity Share Capital) + (Preference Share Capital) +
(Surplus)

= (5,00,000 % 0.5) + (5,00,000 x 0.5 x 25%) + (10,00,000 — 40% of 10,00,000)
= 2,50,000 + 62,500 + 6,00,000 = Rs.9,12,500

Proprietary Ratio = 9,12,500/ 10,00,000 = 0.912:1

OR
A mathematical expression of the mutual relation between two numbers is
called a ratio. Ratio is simply the expression of one number in terms of another
number. It can be expressed as a fraction, rate or percentage..

Utilities of Ratio Analysis:- (any two)

1. Easy to understand the financial position of the firm

2. Measure of expressing the financial performance and position:

3. Intra-firm analysis on the financial information over many number of years
4. Possibility for Financial planning and control.

al HEA13T & UREIRS HY dl AOAT T & Gehe Al AT FHEellcl &
3Tl HTURUIAAT Ueh HEAT I @Y TEAT & HesT # Gehe HYalm g1 38 372
(fraction),&X (rate) 3raar ufaerd (percentage) & &9 & 2T AT T g
3edTd faRAwor iy ITAAATT - (IS Q)

1. &7 & faag afa &« a@ss J mae

2. T vt 3Rk Rufa &t saad aXet &1 3919

3. ®5 aul &7 fadiT Ry I 3R-Ba faveivor

4. AT Arerer 3R FFor S GHGEAT|

Yo

mark

mark

Ys
mark

Mark

1+1

30.

Cash Flow from investing activities

Particulars Amount

Purchase of Building (4,00,000)
Sale of Building 2,00,000
Purchase of Non Current investment (2,00,000)
Sale of Non Current Investment 3,00,000

Ya
mark
for
each

14
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Sale of Trade Mark 1,50,000

Interest received on debentures 10,000

Dividend received 5,000

Rent received 20,000

Purchase of goodwill (1,00,000)

Cash flow from investing activities 1,85,000
OR

A cash flow statement is an important tool used to manage finances by tracking
the cash flow for an organization. This statement is one of the three key reports
(with the income statement and the balance sheet) that help in determining a
company’s performance. It is usually helpful for making cash forecast to enable
short term planning.

The cash flow statement shows the source of cash and helps you monitor
incoming and outgoing money. Incoming cash for a business comes from
operating activities, investing activities and financial activities. The statement
also informs about cash outflows, expenses paid for business activities and
Investment at a given point in time. The information that you get from the cash
flow statement is beneficial for the management to take informed decisions for
regulating business operations.

The various objectives of preparing cash flow statement are as follows:-

(i) The first and most important objective of cash flow statement is that it helps
to ascertain the gross inflows and out flows of cash and cash equivalents from
operating, investing and financial activities.

(ii) A cash flow statement helps in determining the various causes for change in
the cash balances during an accounting period.

(iii) A cash flow statement is also prepared to determine the liquidity position of
the organisation.

(iv) Moreover a cash flow statement is prepared to know about the requirement
of cash in future.

U3 JaTg faaRor Ueh AgedquT 3Uaor § foreer 3uiter el Hartoet & fow (s
JaTg @ ST fad @1 Yaue Fa & fav fFar sner g1 ge {eror e veag
Ratet (3 faavor 3R gt oF & @) # @ U § S Sl & el S
fuiRa aXe & Age FXar g1 I§ AHAIR W euary AT f T&7d e &
foT e qaleAe St # Herds e gl

Uehg yaTg faavor Ay & AT HT fe@rdr & 3R 9red 3R I Pehs TR AR
TG H IR Ace HXdm &1 Thdr ¥gay & v 37e arely Awdr aRaresT
sifafafe=t, e sfafafeat 3R ol afafefRar & 3l &1 [AaRor, a6 &
afgdTe, caraarde afdfaftEl & fov sperae fee o @t 3R e ARud @y
W fAder & IR & o giad wtar g1 Aehs varg faay & 39! S SiehrY

transa
ction

mark

(1x4)
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fAedr 8, 98 I9a aras & [JIfFafAa s & fov 3fg vy o & fow
U§YsT & foT wrRIGHS 8lar gl

UFs JaTg TAROT IR A & A 36T 39 TR & -

()3 varg faaor &1 gger 3N F8 FAgcaqul 36520 Ig & [ I§ aR=re,

foaer 3k o afafafl & J6dr 3R e THFelt & oo 3iddg 3R
3fgaTg &1 gar e & #Ace HLar g

(i) Tps garg faaTor U @M 37af & SR $U doiF H Fgad o A
FRUT # FURT = & #Aeg F=ar &

(iii) TITST AT et TUfa ARG = & fow v FHhdr varg faawor off IR

forar Srar B
(iv) 3G 37clar #AfasT & FAHRST FI METhAT & dR H JATeAd & [T Teh Uhs
yarg faaRor Sar T Srar §

COMPUTERIZED ACCOUNTING

23 Data, Report, Ledger, Hardware, Software. (any two) Yo
marks
each

24 (i) Accounting transactions Ya

(i1) Accounting software marks
each

25 (C) Assets, Capital, Liabilities, Revenue and Expenses 1

26 (C) Column between start and end points of Excel sheet 1

27 (C) Data is not made available to everybody. 1

28 Sequential codes:- Sequential codes are those codes in which the numbers or 1

letters are arranged in a consecutive order.These types of codes are mostly

applied in source documents such as cheques, invoices.

It also helps in document search by tracking a relevant document based on the
code or by identifying the missing codes in a document based on the numbers.
Mnemonic codes:- Mnemonic codes are those codes that consist of alphabets | 1
or abbreviations as symbols for codifying a piece of information. E.g. HQ for
headquarters, DLI for Delhi in train bookings.

29 A graph is defined as a diagram or a pictorial representation that represents the |1

interrelation between data or values in an organized manner.
The three advantages of graphs are as follows: (any two) 1+1

1. It makes data presentable and easy to understand.

2. It helps in summarizing the data in a crisp manner.

3. It helps in the comparison of data in a better way.
OR
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Types of vouchers (any three):

(i) Contra voucher: Used for fund transfer between cash and Bank A/c only.
This voucher is used if cash is withdrawn from Bank for office or deposited in
the Bank from office.

(i1) Receipt Voucher: All the inflow of money is recorded through receipt
voucher. Such receipts may be towards any income such as receipts from
Debtors, loan/advance taken or refund of loan/advance etc.

(iti) Payment Voucher: All outflow of money is recorded through payment
voucher such payments may be towards any purchases, Expenses, due to
creditors, loan/advance etc.

(iv) Journal Voucher: It is an adjustment voucher, normally used for non-cash
transactions like adjustment between ledgers.

1+1+1

30

The error is #NUM! Error. The steps to correct it are:

1. Optionally, click the cell that displays the error, click the button that
appears and then click show calculation steps.

2. Review the following causes and solutions: Using an unacceptable
argument in the function that requires anumeric argument. Make sure
that the arguments used in the function are numbers. Using a worksheet
function that iterates, such as IRR or RATE, and the function cannot find
the result. Use a different starting value for the worksheet function.

3. Then click the Microsoft button > Excel option and then click the formulas
category.

Payroll in Excel

SUM v X =SUM(F2:F6)

A B C D E F

Total Total
s Overtime/ s

Employee Name Pay/Hour Hours Hour Overtime Gross Pay
Worked Hours

Mathew Roy 20 160 30 10 3500

Rogger Peng 30 140 40 20 5000
Ram Prakash 20 155 30 10 3400
Tom Furlan 25 148 35 40 5100
Ronnie Brook 30 160 40 20 5600

m 763 100 [FSUM(F2:F6)

o= o LA =
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